| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

0 ]
£
Qe
[~ o
03 R
3
o —
= O |x o
= e —
o 2
H
8
o = o
o 2
1 3
2 o
o E —
= [ |
! <
LD o
— 2 o
S 3 n_,_
=
St
3
e} H o
o g 5P
c K 5
z
0 _ o
N o
£
o O
QL
2 o
o ~
kel
—
]
o
=
B 2
0
o o
el
! o
o —
‘ﬂ. I
o
— o
1 INd
2 )
|
Lo o
i 7
5 5
Q= 5]
£
IS
[~ o
28 S
3
o —
— O N o
s |8 =
o -{o g
g 2
g o 8 o
= L0 3
o ! [ o
I - R < T
5 | 8
T [ g
[ . = o
5 N b
dlide E _
" ) 8
e} @ o
NI 7_..::. L %:: Ly o] N ] =
=) = ? | 5 !
— WW_ [=} = o
5 L
Qo
£
g
© 10 o
| NE I
- = o O
| QL
w > o
X 0 5 I3V
O — O
3
o
(o] — © o
a = =
o
: o o
+ [re}
[
A o
. e S h
: ! o
N Lo
..... 15 Il o
| @ N
o 5 )
8 o .
g 2 5 k= 2 F g
syesf” Oney

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


